MeHto Ha " 20 roa  YTeepxaato: aupektop HCOLL
/Bawwpos b. C./
KonunyecTtBo A0BONLCTBYOLLMXCA 80uenosek
HavmeHoBaHue
NPOAYKTOB NUTaHMA
macno. Bynouka|macno
MeHto MNT.MACO| CAMB |NOMMAOPLI|OTypLbI| YK |coNb [caxap|yai|xneb |(wT) noacon|Monoko(n)|KapToden
Ne |HanmeHoBaHue Konnyectso npoayKToB NUTaHMA Ha 1
yenoseka

MNT1ua oTBapHasn ¢
1 |kapT.nope 172 4 0,015 50

bynoukun

c
2 |HauMHKoOMN 1
3 |Macno caus. 5
4 |Canat 25 25| 15 3 5
5 |Yan 23 | 2
6 [Xneb 110
7
8
9
10

t’l;‘;m Ha Henoseka 172 5 25| 25 15| 7| 23] 2| 110 1 5 0,015 50

Ha 06

(r‘;/i)”*ee wmeno 13760, 400 2000 2000[1200 560| 1840|160 8800 80| 400 1,2 4000

6.

Hena (py6. 33 0,15 0,55 01 0,05/0,020,0140,05 0,8 0,025 20/ 0,07 8o| 0,025

rpamm/n)

Ha cymmy (py6) 2064 220 200 100 24| 7,84 92/128 220, 1600 28 9% 100

UTOro 4879,84

Bbiaan 3aBxo03:

MpuHAna nosap:

/fAky6os8 10.4../

/KypbaHosa M. K. /




